Mounting Instruction “L"HUBER'fSUHNER

Excellence in Connectivity Solutions

Down- / sidetilt brackets 9091.99.0183 and 9091.99.0201

to SPOT-M and SPOT-L antennas

Keep away from catenary and high
voltage lines.

Be careful when working at height!
Always secure ladders!

Always tighten screws!

Scope of supply

Avoid bringing the cover of the antenna
into contact with acetone, gasoline or oil.

e

Item:2

Qty: 4

m:; @ -

Flat washer M5

Iltem: 5

Antenna/enclosur Spring washer M5 2=l 2
base bracket Qty: 4 grtT ?racket
Qty: 1 |
ltem: 6 Item: 8
Bolt M&x40 Q Washer spring M8
Qty: 4 Qty: 4
e
Item: 7 Q‘ Item: 9
Washer flat M8 ' Nut M8 Wall/Poll bracket
Qty: 4 Qty: 2 Qty: 1
ltem: 11 Item: 13
i ltem: 12 Bolt M5x12
Clamping bracket —_—
Qty: 1p g Bolt M&x70 Qty: 4
' Qty: 2 9091.99.0201 only

Ref: RD41576000C/B

Document: DOC-0000225623 F / uncontrolled copy

Page 1/4



Mounting Instruction {'_"]HUBER'fSUHNER

Excellence in Connectivity Solutions

Down- / sidetilt brackets 9091.99.0183 and 9091.99.0201
to SPOT-M and SPOT-L antennas

Base bracket installation to antenna

Attach item 1 to the back of the antenna
using items 2,3,4 as shown.

Verify that the orientation of the hole in
item 1 is aligned with the elevation axis. €

Use tightening torque of 5.7 N/m.

ELEVATION
AXIS

Installation on a pole
NOTE:

Antenna shall be oriented according to the indicated

sign on its back plane "UP" or "HOR.UP" or" VER.UP"

Step 1

Connect the base bracket as shown above.
Connect item 10 to item 1 (mate knurled
surfaces) using item 6,7,8,9 as shown.

Note: The bolt head shall be positioned in the (SYaY7)
socket on item 1. @,@AL' T

Use tightening torque of 24 N/m.

ANTENNA OR RADIO
ENCLOSURE

Ref: RD41576000C/B

Document: DOC-0000225623 F / uncontrolled copy Page 2/ 4



Mounting Instruction {'_"]HUBER'fSUHNER

Excellence in Connectivity Solutions
b

Down- / sidetilt brackets 9091.99.0183 and 9091.99.0201
to SPOT-M and SPOT-L antennas

Antenna or
radio enclosure STEP 2 (FOR POLES SIZES 1.75"-3")

Install the antenna to the pole using item 11,

fj‘D tighten the bracket using items 8,9,12 (for
small pole diameter use item 6 instead of
item 12).
Use tightening torque of maximum14N/m.
KXo (12) Alternately and equally tighten the two M8
A bolts up to it's defined tightening torque,
—~ in order to prevent unequal pressure
&2, 2 on the cast clamps
—
I'@/;:z
Option:
1/2" to 14mm P
screw hose for pole over 3" For pole over 3*
clamps

use two screw hose clamp (not
supplied with this unit) to fasten the
mounting kit bracket to the pole.
Items 11,6,8 and 9 are not required
with this option.

(not supplied)

Ref: RD41576000C/B

Document: DOC-0000225623 F / uncontrolled copy Page 3/4



Mounting Instruction “L',"UBER"SUHNER
Excellence in Connectivity Solutions

Down- / sidetilt brackets 9091.99.0183 and 9091.99.0201

to SPOT-M and SPOT-L antennas

STEP 2 (FOR POLES SIZES 1"-1.75")

Install the antenna to the pole using
item 11 as shown, tighten the bracket
using items 8,9,12.

Use tightening torque of maximum14 N/m.

Alternately and equally tighten the two M8 bolts
up to it's defined tightening torque, in order to }:2 X2 %2
prevent unequal pressure on the cast Clamps 12 fgj)i

Mounting on a wall

) NOTE:
{?“ (6) Antenna shall be oriented
e according to the indicated
(/7&3}:}:5) sign on its back plane "UP" or
"HOR.UP" or" VER.UP"
P
k?)xg.\f"@ II D/l

— Wall mounting
holes ( Hardware
not supplied)

(’5'/, f—i\ \—Elevation

= &) axis

Connect base bracket as shown on page 2

Connect item 5 to item 1 (mate the knurled surfaces) using items 6,7,8,9 as shown.

Note: the bolt head shall be positioned in the socket of item 1.

Mount item 10 on the wall on the desired position (note the azimuth axis orientation).
Attach item 5 to the arm bracket item 10 (mate the knurled surfaces) using items 6,7,8,9 as
shown. Note the bolt head shall be positioned in the socket of item 5.

Use tightening torque of 24 N/m to the azimuth and elevation hardware.

HUBER+SUHNER is certified according to ISO 9001, ISO 14001, ISO/TS 16949 and IRIS www.hubersuhner.com

Waiver: Itis exclusively in written agreements that we provide our customers with warrants and representations as to the technical specifications and/or the fitness for any particular purpose.
The facts and figures contained herein are carefully compiled to the best of our knowledge, but they are intended for general information purposes only.

Ref: RD41576000C/B

Page 4/4
Document: DOC-0000225623 F / uncontrolled copy 9



